Unit 7: Internal Controls and Financial Analysis

Activity 5: Financial Analysis - ELO1421090
1.  Who uses financial analysis?
2. Describe trend analysis.  How can the data be presented?
3. What do percentages represent?
4. What is a graph?
5. How is comparative or horizontal analysis performed?
6. Is a decrease in an expense good or bad?
7. An analysis of The Woodstove Company financial statement shows several exceptional items that should be investigated:
a. Despite increasing sales, accounts receivable has decreased. What might this indicate?
b. The company has invested in capital assets and is showing an increase in both office equipment and vehicles.  These investments have resulted in what?
c. The company has spent quite a bit more money on advertising. While the additional advertising may have resulted in additional sales, there may be overspending. The company might consider trying to do what next year?
d. Wages and salaries have increased by 30%. This increase may be due to the what? Management should ensure that this increase is not due to what?
e. Insurance costs have increased. This increase may be due to what? The insurance bills should be reviewed to verify this.
f. Interest expense is up substantially. What is this due to?
Check Your Understanding:
1. Here are some expenses from an income statement. Calculate the shaded cells.

	 
	20-2
	20-1
	Increase or Decrease
	Change in %

	Rent expense
	27,000
	18,000
	 
	 

	Salaries
	76,900
	54,700
	 
	 


2. What is a situation that could explain both these increases?
Common-Size Analysis (vertical):
1.  What do common-size analysis (vertical) calculate?  How are they calculated?
2. What is the basis of comparison?
3. A review of the operating expense details from the previous page indicates which expenses have increased. The higher operating expenses are due to what expenses increasing? What should management do? 
4. Here is a condensed version of the Balance Sheet using common-size percentages. In this example, Current Assets and Fixed Assets have been divided by what common item to calculate their percentages?
5. The same process was used, dividing all types of Liabilities and all the owner’s equity accounts (there is only one in this example) by Total Liabilities & Owners Equity. What are the common factors here?
Analysis of common-size balance sheet
1. This common-size balance sheet indicates that this business has much more long-term ____________  to pay versus the ___________ year. Long-term liabilities are ________% of the total liabilities and owner’s equity.

2. Another point to note is that the owner’s share in the company has ______________ from 64.7% to ____________%.

Check Your Understanding Questions
1. This is a condensed income statement for two different companies – Company A and Company B.  Complete the common-size calculation for both companies in the shaded cells.

	Common-Size Comparative Income Statement
For the years ended December 31, 20-6, 20-5

	 
	Company A
	%
	Company B
	%

	 
	 
	 
	 
	 

	Sales
	100,000
	 
	75,000
	 

	Operating Expenses
	36,000
	 
	10,800
	 

	Net Income
	25,000
	 
	23,000
	 


Answer the following questions using the Income Statements from Question 3. 

1. Which is the more profitable company in terms of dollars?

2. Which is the more profitable company in terms of percentages?

3. Which company would you prefer to own?  Why?
